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AB# 4y = 8F 8 55 300 v A, Bz 81 % o Bz 4R 4t

ABRBEEZB
(AB)p = A'B’,
1k 75 55 Sk B, AB 8 4y 2 81 52 % b BASR &y 2 8 B 6T % B IF,
ifii 4 % 0l &S £ ,
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fn fig. 2, ABR CD 15 % 47 . 45, A, B,C, D& fE e, B, 7, 3
% FAWRPFAER XXEHFRAB,C,DXAACE S
W X'X 2 B 47 AE R CF,— 38 B R E,— B & % F; Al A'B'=
AE, C'D'=CF, W15 @ 4 47 T B 22 7 17 5 & 6 BE & DF,
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Fig. 2

3. RIE —RALFEEHEERHLREMAZEY
BEZ Fy SRR A 2 E O ri BR3G ST 58 R IE J5 i A £ iR,

BHABHEXXEHzEEQRRZMANA B X HA
17 447 7 X'X 2 Tt AC, & R 1t C, & A'B' = AC(fig. 3,

] ACB = 4 3 J* C £ 11 #4,1)
(AB)g = A'B' = AC = AB cos ¢,
a {% CAB & #4.
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(i) AB>0, A'B'>0. « {5 AB W A'B'x IE ¥ i R Z 7,
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() AB>0, AB' <0, ZIENWMZKMHE
[ EAB= T —a,
i cos EAB=cos(T —«)= —cos &
i A'B'=AB cos EAB,

(i) AB<0, A'B'<0, ZIE )iz & ME
| EAF=a; fiPl A'B :‘AB co. EAF,
(iv) AB<0, A'B'>0, ZIEH M ZRMHKEF
| CAF=m—«a, {544 A'B'=ABcos CAF,
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ABcos@+ BCcosB+ CDcosY + DEcoss + EAcose =0,

5. @3 % ABCDE 3 BIr £ 3% Mg )k em 4
$ 1k B E 2 T &t AE, 3 2 # 3%, AB, BC,CD, DE R 2 43 i%.

6. SEIE PO %5 LA S e AR TR b2 AT 2,%
A B AERER EZ SR

s 7 & P4, M f F K

A'B'+BC'+C'D'+DE+E'A =0,

03 AB +BC +CD+DE=-EA=AF,
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7. RE| OME R Z WK WA E - BE
Pyl 2 = 60X, OY, OZ £ g 48,0t 4 I &R 5 22 AL £ #,

A B £ 0,40 B 2 B B Descartes IC, A8 & AL il Z 58 M
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BE 2,y 2 Wy, 2 B M, M g MM
Wy 2 A R M, MY 28 R GEL K
(M Myp=x—x", (M'M")yy =y —3", (M'M")gg=2"—2",

ITL. 1% M OS54 B 2 il B 6 B M AEO0Z#g 22 25 17 £t MR
R XOY {ir k% i 5 R, R B R{EOYdh 2 £ 17 $t RA OX dih 5 A v
Bt OARM 5 &
x=04, y=AR, z=RM,
Moz M Bz R SSEOM A% A% s L) OBPM 5 0COM § M
B2 R R (fig. 5),
IV. e B 0 2 A 4% £5(0,0,05 1 XOY £ B il N 2 B2 =0
A YOZ B B 16 N 2 Bhx=04E ZOX 4 B ifi Y 2 &, vy =0,
oA OX i B dih 1o 2 85, vy=0, 2=0; f£OY {7 dy |- 2
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B 8
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3. G ®w|W (xy2 (%92
W () Ry, 2, (x -y WEHR ZX i £ AR
(v, 2), (x,9, —2) WEGE R XY H S 25

4  — Eiz dLEE AL ERMEA R O x=0 Kk y=0

iy x=a B y=0; (i) xr=a & y=b (v z=c Fy=b

5. % OA=a, OB=b, OC=c, i MRAQ, MQCP,

MRBP 2 Ji N B 47 MRE & 1 — Bz i A Wi fe

N
M 2 {45 B (a, b,¢). 3K A,B,C,P,Q, R Z AL KL

MR EXS#HERER

6.
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8 IR — oy VNINBE R Z A

o) A< BRI 50 SRS 2 T R D T DA R R AT R 2

G oy T L — W 1z g 8 S s,

1 5L GARM; 1R OM # 75 # 0X,0Y, 0Z

RMEMEBEZ B Z R
o 55 15 OA, AR, RM; # 7 ROM, AOR Wj 1 = 4 JE 14
OM"=0R*+RM?,
OR* =04+ 4R",

OM*“=04"+AR*+RM".
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9. WEBZHEmE 1° BEMOMMBEHEZM
fig. 7).
OM $850 5> 40 b B Wl b 2 59 8, 0 M 8 2 A 8L B R Al .

—~

oM =x*+y*+27,

2 ORM R MR R (g T, R 2 R
=04, y=AR, 2'=R'M'
=04", y'=A4"R", z'=R'M"

MM R 4y #E OX 1 B L

A A" =04"— 0A = 5" — x5

M EOYROZ |- 2 EZE y'—y' B V-2
1% LA MM =" - 'J+(y”~v’)’+(2”—:’)"’.
En d=-ty (X' —x 4+ =y i+ =275,

100 BEHZA@MBE &7 — i fHMM tig 0 B RN
Of: OM iR Z B inmmtie EMM2ZE o b o 1%
B T B UMY I 2 A R RT BB 22 N e N e, by e T
AR T ARz b B MR OM K MR — DL g AR A
VADE R &

A 01 % K, R ) Oty 2 Bz S A AR L IR D)1
i OM & fit 2 0 h R 2 B2 B

A OM=p ¥ 28, 44

a=pcos® b=pcosB, C=PcosT,
# p=1, Rl
a=cos«, b=cosB, C=cosY,

£V ZEZR

MRz B ¥ RXOM,YOM, Z0M % 5,/ 2 EMRZ % WA
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4, cos @, cos B,cos Y il 2 H it 2 H W R uX,

4 §8 B, OM*=p*=0A"+4R*+RM?,
Bp cos® @+ cos® B+cos® ¥=1,

Rt —EHBRRERXME M ZZMAZHREZH MY E
# 1. |

i (! 2, (6 y 2 B MY MY R B 2 A R R R A
§7,I0 8, MM 8 5% A5 4% 5% 4 OX,0Y,0Z £ Z §1 3¢ 1%

x"—x'=dcosa, y'—y'=dcosB, 2''—2'=dcos?,

d—xll__xi —ylr_yl _‘_Z”—Z’
Cos @ cos B cosY

B R B E cosa,cosBycosY I ALEBARAMT 2

1. —TERBZXA SV EOME & Z_IE?:TD‘!]E%O[VI’
Bz E N BEMINZ M8 Y kd, B,Y I EBOM K OW'Z
¥ w1,

i3]

AEME 2 4L B2 % OARM; 3L #4358 & OM 1t §6 B,)0%
OM T OARM £ 4 2 OM', i
(0M>()ATI = (OA)U I’ + (AR)OM’ + (RM)OM L

Bz, OMcosV =0Acos @ + ARcos B’ + RMcos 7',
1H M B 2 B B 1 OM 45 A2 A B2 8 b 2 81 %5
ik 04A=0Mcos @, AR=0Mcos B, RM=0Mcos7;

& A 81X, 0 A
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cos¥V =cos @ cos ¢ +cos 3 cos B/ +cos Y cos 7,
W TR 2 2 R Y A AR B Oz A 2
% W WS 2 3 B AL
ERE WS OM AL OM 2 4] 42 % ¥ OA, AR, RM £ [7) L #
(OM) Z & ¢ ;i 04, AR, RM R 55 &0 OM %} 45 i 45 {r £ #h 2
’3] WOE 4 — & Bl
Fo— B2 & il 4y Rl e oz LW st R
Gy 12 BT A& BT AN K ME VA 2 ST B E R R E R L b
Wi GF % 2 A0 ED TR 2 8 .
12. —FEEBZEE  wOMSOME & K 1 Mg 8),
il cosV=0; 3w Bk z B R RNER
cos @ cos @' +cos B cos B+ cos ¥ cos Y =0,
18 #E T AR MR RN 28RS
1 Lagrange JC 2 {4 % X
@*+b*+c*a’*+b'*+c'?*)—(aa' +bb' +cc')
=(ab' —a'b)+(bc' = b'c)+(ca' —c'a),
2% WEOB R Ui R X T = A Bz ik,

gy ax+by+cz=0, a'x+0'y+c'z=0,
-t X v 4
i A - P T= Pl = S,
o A be'—b'c ca’—ca ab’—a'b’
b C C a ‘ a b!
ul X:1y:z= |
b <’ ai | a b,

“ sep A0 _ € ~_¢\/a‘jl-_b +C"
3t SF L ¢ b’ T A aEEb 4T

a
ML ME fE 4+ B AE — i S0 E 2 B R i E.
14 sinVZz R % K sn*V=1-cos®V, @

sin?V =1—{cos « cos @ +cos B cos B’ +cos Ycos 7'),
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e+ 2 A A A A A e e e e e e e P A SN NN

o~~~

sin?V =(cos? @+ cos® B +cos? Y)cos® @' +cos? B +cos” 7')
—(cos @ cos @ +cos B cos B+ cos ¥ cos V'),
#t Lagrange K. Z {5 & X, 7 H 2 5
sin®V =(cos @ cos B/ — cos @’cos B)* +(cos B cos Y’ —cos R'cos ¥)*
+(cos Y cos &' —cos Y'cos @),
15. ERRABHEERZER ROV ERRFAES
OM B OM' — Ltz o it (ig. 9). XL &% o B, YBOMEH Z F
i, o, B Y RS OMY T &t 2 J5 ) A, 0L B K v BRONTE R 2 75
) fE 12 BB A

Ccos @ cos M+ cos Bcos -+ cos Ycos v =0, 1)
cos @'cos A+ cos B'cos K+ cos Y'cos v =0, (2)
)53 cos® A+cos® p+cos® v=1, (3)

1% §13,2° %ﬁ#(”@)@%&‘iﬁ% 2, A
coS A - cos M
cos B cos Y —cos B'cos ¥ cos Yeos @’ —cos Y'cos @
cos v

Cos @ cos B’ — cos @’ Cos B

Wk Sz BB RO Wl ZE S

1 (cos?® )\+cos F+cos v)"

IF s 5 7

Bin}/ +1/((,os B cos T/ —cos B’Lus 7)® —st Yeos @ — o8 Y7008 @)% A -eeeee
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e e e A A A A e e e

B e e e e

cos Bcos ¥ —cos B/cos

cos A=+ Bc Y B ,_.Z,
aml/

cos Ycos @' —cos Y/cos @

cos b=+ Sl ,

cos @ cos B’ —cos a’cos B
sinl/

cos v=-+

4 73 5% 4+, ON Z J5 1) i JE.
N MOMEOM B RERRNAEFHBRIXS
cos A =-+(cos B cos Y/ —cos B'cos 7),
cos k= -+(cos Y cos & —cos Y/cos @),
cos v =14(cos @ cos B' —cos @’cos B),
B =
1. SRFRE 2 85 M & i 8 2 75 m #koal

1 L « A 6 2 3
(1) (47'3) "2)1 (""“)7 1, —5). % 7, —“Tv "—7"’ A
i 4,7,-2) 6,5 -4, &3 L 5 33

‘ N > . 3 4
(111) ('5v -8, 6), (‘-)y —4, b). %7 5, F* 5 0,

2. WG, 2, 3)E WA EE dhZ B8R Vv13,4v10,v 5,
G = 2 TH B kR O3 e
(i1 (0,0,3), (4,0,0), (8,0,0)
(i) (3,2,0), (—2,5,7), (1, —38, —5),
4. wM,3,-4), (-2,9, -4, (-2,3,2) = B K — %5
=4 i
5 AEBEIEmM @,y 2 )8EOM B EF—-ERZ
B e B Y, K OM, 5 K st E & L
& X,cos@+y,cos B+2z,cosY=0,
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6 B sin® ¢+sin® B+sin* ¥=
tg? a+tg® BHtg v=tg® @ tg® Btg® v -2,
~ROBEER SR L2 M EZ )l m I k#fsy

=¥

8 RV B HAZ R AN IE S BOE S K b R
Z BB, Y) K (@, B, Y 8 U T F sk

4 =(cos @—cos @')? 4+(cos B —cos R +(cos Y —cos ¥)7;

-~ =(cos @+ cos @)? +(cos B+ cos B)* +(cos Y +cos ¥)*,

2
cos® ¥
2

9. BO,y,2)0(x,9,,2,) 8P, Q0 82 b B3 W PO B
SRt —-EHHRLZERS
Lix,—x)+m(y,—v)+n,(z,~2)),
L,m,n, Bih— B & 2Z Hwn ek y
100 —EREFRTEMEZER 2 3,6 REMRZE
BE 3¢ .
110 — (B A5 B br k2 8h P 1 2 MR SR AR 2 iRk

1 .
H: cosa=cos B=cos Y=\'/*?_ (45°)

120 % PROZMEREI —6),3, —4,5),3K 0P, 00 & PQ
Ay T B
9o 3 _ 6. 8  —4 1 -2 -3 &
77 '7’y "7"’ 5‘\/'2-'1 5\/ 2'a .\/‘2"' 7 ’ 73 ) 7‘.

13, FK (23, 6,3, -4, BPRQZIMELKOP ® 00 2
A % cosh= ,;,-(—]8\/2'),

14. ‘}L‘P QR"W'& ﬁt ﬁ}(z 3 5))(3 ‘))—2),(_ 7’)2)2

POR = f4  = 1. 2 00° cos‘“/ , €0 —"/Ji,

b SR
(=]



